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meﬁmmaﬁw

1. “It is wholehearted purposeful activity 1.
organised in social environment.” This THTS aqé‘mtguf ey g T8 $A o
statement indicates towards which teaching ) g R 9 3R G Bear 2 ?
method ? . (A) TEIH
(A) Demonstration
(B) Heuristic (B) ﬂ
(C) Problem Solving (C) T e
(D) Project (D) Wride
2. The level of anxiety which makes student 2 ffdr &1 98 &R 1 81 @l 9 @ o TR
receptive of learning is : PRAT 2, 98 B -
(A) No anxiety (A) feiar 1 8
(B) Excessive anxiety (B) 3cftrd faar
(C) Normal anxiety . o ' (C) FER Ryar
(D) Learning has no relationship with anxiety (D) R (L.{‘.f'[@q'[) &1 BT & A w3
3. In team teaching, a team of : 3. T PR ¥ 5 8 :
(A) Teachers, who prepare the teaching plan (A) JEATDT B, AT BRI Ao B AR W
and implement it IS [ Fvar g
(B) Students, who prepare the teaching plan (B) BIET &1, AT R JIoT 67 JOR 6 IThT
and implement it foraraa oxar &
(C) Teachers and students, who prepare the (C) JeATdI v Bl $1, A e A B
teaching plan and implement it TR R I9@T haraad &xar &
(D) None of the above (D) Wj?ﬁ ¥ q PR TRl
4. Personality traits of Mesomorphic individuals 4. JTAER INIRG @ dlel Afdd § I oM
are : aTel fded 0T B & -
(A) Traditional and social (A) WHERMEE Ud |HTD
(B) Peace loving and solitary : vl
(C) Energetic and angry (B) = ﬁm‘@ Tid
(C) el vd WiEft
(D) None of the above 3 :
(D) SUYh A § IS T
3. Teaching strategy is a : D. fRreqr egg g 8!
(A) Plan to achieve objectives (A) IeIUT BT U XA DI Ao
(B) Method of teaching (B) fRwgor @i fafr
(C) Extra activity in the class (C) e H HfaRRa fovar
(D) None of the above (D) T{W{iﬁ? ¥ Y By A8
6. ‘Known to unknown’ is a : 6. T W AT B AR B, TP
(A) Teaching Method (A) e fafer
(B) Teaching Maxim (B) f3reqor el
(C) Teaching Technique ©) e qae
(D) Teaching Device
(D) fRmeror gfe
y To wunderstand the heredity, you must 7. ?l?ﬂ':],'s‘rﬂ B T o ford MUS! aTAS ®I W
understand : AT BT
(A) The law of similarity (A) AT &1
(B) The law of variation (B) f¥=tar &1 frm
(C) The law of regression (C) uferm &7 fFrgm
(D) All of the above (D) a'q'gfﬁ i
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8.  One of the following is not the method of 8.  fAm=fefed § ¥ ve HM&s wgg o) Al =48 2
educational measurement : (A) WEBR
(A) Interview (B) AMa&—-<iid e
(B) Norm-referenced Test (C) YETEh
(©) Qucstionpairc (D) f
(D) Observation

0. What is the real carrier of hereditary traits ? s Slﬂﬂﬁl'cﬁ Tfﬁ &1 IS HaEd 7T & ?

(A) Chromosomes (A) T A

(B) Nucleus (B) ®=d

(C) Genes (C) o=

(D) None of the above (D) g'q'{jfﬁ 7 ¥ PE R

10. A child is scared when he see black dog, black 10. U® qdd Pl G, Blell fdool Td BTl Ble Bl
cat and black coat. This conditioning is IR S o T B 39 YR B K RCRCE H
involved in : fafea 2 -

(A) Generalisation of response (A) Sﬁm &I A IHROT
(B) Generalisation of stimulus (B) Sgd &I QAR
(C) Both (A) & (B) (C) <l (A) 3R (B)

(D) None of the above (D) ?ﬂﬁ?ﬁ i ¥ P8 T

11.  The practical method to make studentunderstand ~ 11.  fenffi &1 &feq sl &1 aef g9 @
the meaning of the difficult word is to : waefe fafy &

(A) Teach them usage of such words in (A) S v BT argdl § wOnT e g
sentences

(B) Give their antonyms (B) 1wl e aTet I F

(C) Give their synonyms (©) ﬂ'F[FnQﬁ-E]E: T _

(D) None of the above (D) SUYth 4 ¥ BIg Tl

12. Personality of an individual is which aspect of 12.  afdd, & afed & AdeR &7 PH a1 08 & ?
his behaviour ? (A) GSFTHS Ty
(A) Cognitive aspect (B) R—SgH® v
(B) Non-cognitive aspect
(C) Intellectual aspect (©) e &

(D) External aspect (D) d91E7 &

13.  As a teacher, if you want to correct the bad 13, 9% 8 & 91 Ife g o faemef & g’ﬁ
habit of a student, which theory of learning Ted Pl G qEd &, A e Ao e
you wj)ll keep in mind while planning the WY 319 AT B fh faeia @ e § @
action .

(A) Insight Theory o i ﬁl@'lﬁ .
(B) Trial and Error Theo (B) ¥ T4 e Rigid

ry .
(C) Classical Conditioning Theory (©) W W Regra
(D) Field Theory (D) & Rigid

14, Why micro—teaching is important for 14.  PH—5yg RN %‘EI A erT I anavad 8 ?

zziz:)ssr;om cc;‘mrg;)miliation ? (A) ‘]%—W 3@
o get feedbac .
(B) To develop various skills (B) A= et @ fasr %—SI
(C) To complete the lesson (€) uie ‘IUT Ay %‘g’
(D) To evaluate (D) TedTd %ﬁ

15.  Thebehaviour ofa teacher may be from ‘verbal’  15. 98w yfhar § R & =aErk wfes @
to ‘non-verbal’ in communication process. ‘eMfeqd’ dF 8 Gal ¢ |
(A) Itistrue (A) TE TE &

(B) It is not true (B) g Teld 2
(C) It is partially true (C) TE s & § 98 ?
(D) None of the above (D) B'q"jfﬁ ¥ e T
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16. While doing group teaching, out of the 16, WMHfRH-fEw wxa Ty RelRi & afm
following, which method you will apply to TR & FHET gﬂ fefeRed § & g o
solve individualized problems of each student? & fafer &1 9T e ?

(A) Lecture (A) Y

(B) Programmed Instruction (B) g ;g:f}g—.:,
(C) Tutorial (C) 31-:1311‘

(D) Demonstration (D) e

17.  While assigning a ‘project work’ to the 17. BTE & IRIG &' <d 99T U6 s &
sn'ldents, a teacher should always keep in ZH € W Y@ 91y TP :
mind that it must have : (A) e S
(A) Educational purpose X "

(B) Relation with real life situations (B) W afed i ot wRRefral & &
(C) Learning by activity (C) e fobar g &
(D) All of the above (D) Swth &l
18.  Right to Education Act, 2009 has a provision 18. e & afeR AfRfTH, 2000 # wrew 2
?X): Right to free and 1 educati (A) ﬁ:w i Pl
i and compulso cation AR R
(B) N(;g mental and physiEa] pl?:lishment to (B) T ' ,W s 31 v
child (C) T ATBRT & AR BI AT
(C) Arrangement for protection of child rights (D) Hﬂ'g'{—ﬁ it
(D) All of the above

19.  Teaching aptitude means : 19. Ry sfdrga & Tl ©
(A) Devotion towards teaching work (A) PR it & ufy wado
(B) Desire to become a teacher (B) REa o9 9 T8 3@

(C) All the requisite abilities for profession : :
Shesbadog P (C) e & e 91 <ol A A v
(D) Good rapport with student (D) BT § BT Heruirer

20.  From the following, which is the best method ~ 20. f=feiRed & & fodt faemelt & araRe w=Mmal
of measurement of a student’s inner feelings ? ® A @I 9aray ufafd o | 2 ?
(A) Questionnaire (A) UG
(B) Interview (B) WEHR
(C) Sociometry (C) wHTAAfe
(D) Transplantation method (D) WIRIor fafer

21.  The cognitive behavioural skill of enabling the ~ 21.  H3HH® FIBRITT DITA & Faid fqemdt &I
learner, to understand the use of theoretical Agi~ad dFl & I B IrEfad gRRetT
statements in real situations is called : 4 g3 $ 9YH 9T HEdrl &

(A) Understanding (A) TR

(B) Application (B) m
(C) Analysis (C) fawemur
(D) Synthesis (D) STy

22.  While writing on the blackboard, out of the  22. MUE W fo@d ¥HY, 3eR] &1 AHR T T
following options, what will you specially keep @ ford oy fh 91 &1 9y e | ?
in mind to decide about the size of letters. (A) T qon fenRi & % @

(A) Distance between blackboard and students (B) WIS g REd & 7 fgﬂ
(B) Distance between blackboard and teacher
(C) PE—HE DI TS
(C) Length of classroom 3
(D) None of the above (D) SHY® # | P el
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23.  From the following, which one is not the  23. fo=folRag # & @M w1 92y gy U9 Wl
element of ‘guidance and counselling’ ? &1 3T E B ?
(A) Adjustment (A) QAR PRl
(B) Orientation (B) SHEIERI HA
(C) To develop emotions (C) I BT 9B HeAr
(D) None of the above (D) a‘qgfﬁ ¥ P Tl
24.  Which step is not included in Action Research? 24,  fhurd® CEGEIE] H BIF W1 U afferd 7@l el
(A) Selecting the problem -
(B) Generalisation of results (A) GHHI @I 99
(C) Formulation of action hypotheses (B) URomE! &1 Ao
(D) Preparing plan to overcome the problem (C) frurid IRGRIT &1 feyetor
(D) HHRIT B R B b fory Ao fafor
25. The curve indicating complete information  25. 3feRT & IR Elfl @RI 3R B aTel 9%
about learning is called : Pl HEl IGT &
(A) Curve of increasing return (A) qﬁg'ﬂ'l'-‘[ CICRRCED
(B) Curve of decreasing return (B) B JGaA ah
(C) Curve of equal return (C) A acA a9
(D) S—Shaped Curve (D) UH—3M®R I
26. What is not essential for measurement of  26.  3ifeNTH AIUA &R @ ford FT AEWF AL B ?
learning ? _ _ (A) o o gfeal &1 gar o
(A) To know tact.lc's of teachmg - B) ot 2 YT T B
(B) To know validity of examinations .
(C) To know reliability of examinations (C) WNIemsHi BT fATaH A S Feell
(D) To know acquired skills of the students (D) fenf¥it grr aifsTa el &1 s &R
27.  Intelligence tests are used for : 21. g@' TRV HT FART fehar S &
(A) Grouping the students in school (A) faemer o Bt &1 e foTe & A
(B) Guidance purpose (B) e & Yoo g
(C) Selection purpose (C) 89 &% B YA 5l
(D) All of the above (D) a‘c@fﬁ T8
28.  Which of the following is not the clement of ~ 28. fAwifoiRqd # & ®F &1 ‘SIEIUT IRTTH DI’
‘Stimulus Variation Skill” ? Pl dcg A8l & ?
(A) Set Induction (A) fa=gmg ooy
(B) Movement (B) ¥deH
(C) Gestures (C) ®9-91d
(D) Change in voice (D) TH-—%aHY IRH
29. A teacher plans his teaching learning process 29. % Red e Revsmrm ufhar & g
keeping in view : T Y S H T
(A) The objectives formulated (A) fifid Sem
(B) The human and physical resources (B) HF4 Tq Wye garE
(C) Both (A)and (B) (C) THI (A) U@ (B)
(D) None of the above (D) qqéfﬁ ¥ P el
30. How will you mainly develop self-discipline 30. 39 I fenfRat A = IR W A RNINE]
among your students ? g yoR fawha & ?
(A) Giving them responsibilities (A) STP! STREIIT qHY
(B) Telling them rules for good character (B) I IRT B 79 Tamex
C) Givi i
b} b ©
(D) fTd &1 ueH WS
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32,

33.

34

35.

An object, moving with a speed of 6.25

meter/second is decelerated at a rate given by
dv
at
speed. The time taken by the object to come

to rest, would be :
(A) 12 second
(B) 2 second
(C) 4 second
(D) 8 second

If f(x)=xvxe[0,3] and P ={0,1,2,3}
be a partition of P, then L(P,f) and U(P,f) are
respectively :

(A) 3,6

(B) 2,8

(C) 1,4

(D) 6,3

= —2.5/v, where v is the instantaneous

The shortest distance between the lines
+1 +1 Z+1 -3 —=b z=7 .
e ol and =22 = 0 il
7 -6 1 1 -3 1

be :

(A) 29

(B) V29
(C) 3v29
(D) 2v29

Claussius-Mossotie equation gives relation

between :

(A) Dielectric constant
polarizability

(B) Total polarizability and temperature

(C) Relaxation time and viscosity

(D) All of the above

If <, B and y are the roots of the equation

x3 4 qgx+1r =0, then the equation whose

roots are f+y, y+« and o+ will be :

(A) x*+qgx—-7r=0

B) x}—gx+r=0

(C) x*+rx—q=0

D) x*—-rx+q=0

and molecular

Protons and neutrons are the members of :
(A) Meson family
(B) Lepton family
(C) Baryon family
(D) Photon family

31.

32.

33

34.

38,

36.

6.25 Hiex/¥dvs I = W TCHA Td I
B AT B R ST =-25Vv 7 & I 2
Wl v dElE A 2| 9% @ fvE e |
I § T A B

(A) 12 9o

(B) 2 UBUS

(C) 4 U8

(D) 8 UBUS

¢ f(x) =xvx€[0,3]TP=1{0,1,2,3}
P & ®13 fa9eA €, 99 L(P,f) Td U(P,f) &
I B
(A) 3,6
(B) 2,8
©) 1,4
(D) 6,3

s X+1 +1 Z+1 x=3 =5 z=-7
VR s ) =
& 19 @ a0 Bl
(A) 29
(B) V29
(C) 3v29
(D) 229

TRl TR0 |ae w1 Sl & -
(A) WIdEdi® Ud e gaviigal & 9=
(B) Wyl gavfigar vd am & 4

(C) fasnifa @rer vd wu=ar & 4=

(D) W

I o, B ARy TR 23 +gx+7r=073
ud &, @ e qa pty, proc 3R oc+p Bl
IHHT FHIGRI BT :
(A) x}+gx—-1r=0
B) x3—qgx+r=0
(C) x3+rx—q=0
(D) x3—-rx+q=0

e @ ggie 6ewd §
(A) ¥9H 9RIR &
(B) e URaR &
(C) UM IRaR &
(D) BICH UNaR &
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37.  If2ng:ng, =12:1, thenvalieof nwillbe:  37. AR 2ng:ing, = 12:1, A n ST A e :
(A) 3 (A) 3
(B) 4 (B) 4
©) 5 (C) 5
D) 6 (D) 6
38. A particle moves along X-axis from x=0 to 38,  Ud H X—IH B 3@!33! x=0 ¥ x=5 0 TP
x=5mtr. under the force F=7-2x+3x* N. URadl ae F=7-2x+3x2 e & Fia et
Work done in this process is : ¥ upn A fpar T B R
(A) 70 Joule
A) 70
(B) 270 Joule (B) 27061?{
(C) 35 Joule (B) kS
(D) 135 Joule (C) 35
(D) 135 Vet
39, The value of lim x—s;nx will be : 39 lim x—sinx &1 A &I :
x—0 X x—0 X
1
(A) 3 (A) %
1
®) 3 ® 1
1
© - ©) é
(D) None of the above (D) SUgh ¥ | BIg el
40. If Stoke’s law is applicable, then the 40. IR e a1 fm SIS grar g, ar ﬁ(’_\s'ﬂ
Reynold’s number is : & B
(A) <20 (A) <20
(B) <2.0 (B) <2.0
(C) <0.02 (C) <0.02
(D) <0.20 (D) <0.20
41. If A is the matrix of order 3x3 and [A|=8, 41. 3T A & 3x3 DIfc & AR & 3R |A[=S8,
then |adj A| will be : T4 |adj A| B :
A) 1 A) 1
(B) 2 (B) 2
42.  Barkhausen criterion for oscillations is : 42. Tferd P oIy qTPEr AFce | & ?
(A) BA=2 (A) BA=2
(B) BA>1 (B) BA>1
(©) BA>I (C) BA>I
(D) BA=I (D) BA=1
43.  The centre of gravity of solid hemi-sphere  43. U Q9 SRl &1 [E@IHYY B SHD! {3oaT
divides the radius from the centre in the ratio: ] B 9 by U A g avar & ?
(A) 5:3 (A) 5:3
B) 3:5 (B) 3:5
(C) 2:3 € 2:3 .
(D) None of the above (D) SUgH § ¥ B3 T
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44. Interference of light proves the : 44.  YHE b fIH D e, I Fdl &
(A) Quantum nature of light (A) THT B FEicH GPpid DI
(B) Polychromatic nature of light (B) Y& &I qgaUig Ul i
(C) Monochromatic nature of light (C) Y& Bl S quifa ‘;l?ff?f @l
(D) Wave nature of light (D) YdII Bl R D?z‘v'ﬁ'f ol

45. 1 (VitxZ dxdy oo 45, 1 V1+x? _dxdy :
The value of [ [, Teaisy? Will be: s Iy S A BT
(A) log(1++v2) (A) log(1++2)

(B) glog(1 +/5) (B) glog(1 ++/5)
(C) <log(1++3) (©) glog(1 +3)
(D) Elog(l ++2) (D) %log(l +2)

46. The SHM. of a particle is given by the  46. W agd T & &I & GH@B
equation y = 3sinwt + 4 cos wt. Then the y=3sinwt +4coswt 8| T B & JAH
amplitude will be : 21
B) 5 (B) 5
<€ 7 €) 7
(D) 12 (D) 12

47.  Radial acceleration at a pint will be : 47. &l fag w B wwor g
(A) #—r? (A) #—16?

(B) #—18 (B) #—16

. . s 2
(C) #+16° ) #4718’ |
(D) None of the above (D) UL 4 | Big Tl

48. The condition that a cone ax®+by?+  48. 9§ ax? + by? + cz? + 2fyz + 2gzx +
cz® + 2fyz + 2gzx + 2hxy = 0 may have 2hxy = 0 O W 09 WRER 79 GHd @0
three mutually perpendicular generators will £ 99 W I8 yfaey &n
- (A) ab+bc+ca=0
(A) ab+bc+ca=0
(C) a+b+c=0 (C) a+b+c=0

N 3. O
I ETEre D) 2+i+i=0

49. te(fxk)+je(ixk)+ke(i xj) having 49. fe(fxk)+je(ixk)+ks (ixj)F 79 &
value : (A) 0
(A) 0 (B) -1
(B) -1 ©) 1
(C) 1
(D) 3 (D) 3

50.  When SCR starts conducting, then 50. W9 THOHI03MRO ATl IIR™T Heal €, ad
loses all controls. i A @ < 2
(A) Gate (A) e
(B) Cathode (B) ®AS
(C) Anode C) Te
(D) None of the above (D) T.Wg?ﬁ 7y E}ﬁ':f BE]
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51.  Divergence operator is defined for : 51, 'SIgduig 3ffaxex’ g fohar @ &
(A) Vector function (A) I Bed & o
(B) Scalar function (B) 3fe® B & ford
(C) Any function (C) el ft Boe @ foR
(D) None of the above (D) qujfﬁ 4 PRy TRl
52.  The value of [ logx dx will be : 52.  [logxdx &I ¥ &N :
(A) x(logx—1)+C (A) x(logx—1)+C
(B) 2x (logx—2)+C (B) 2x(logx—2)+C
(C) logx+C (C) logx+C
(D) logx®+C (D) logx®*+C
53. If W be the subspace of finite dimensional 53. It W &l ‘BEaEe SEETTd e Wd
vector space V(F), then dim — will be : V(F) T §a8R 2, SIgha - & -
(A) dimV+dimW (A) dimV+dimW
(B) dimV —dimW (B) dimV —dimW
. v : v
(€) dim_— (C) dim dimw |
(D) None of the above (D) SwfH & A B T
54.  Which of the following are not 54. fy=fafed 4 @ o 4 e[ geaE o 48
electromagnetic waves ? g7
(A) Cosmic rays (A) Bifd o)
(B) Gamma rays (B) AT faof
(C) Betarays (C) drer fadvo
(D) X-rays (D) Tag—fawol
55. The mean and variance of 7 observations are 55. 9 UEVI @1 AR qAT YRRV AT 8 3R 16
8 and . 16 respectively. If 5 of the 2| afe T W Ufg Ve 241042 T 14 £ @
observations are 2, 4, 10, 12 and 14. Then the T o -
remaining two observations will be : & '
(A) 7,8 (A) 7.8
(B) 16,7 (B) 16,7
(C) 8,16 (C) 8,16
(D) 6,8 (D) 6,8
56. The radius of convergence of the series  56. CERL Y Zn 3 AR e e
X2 2" will be A) o
(A) oo B) O
(B) O ©) e
Q) e D) S ¥ A |
(D) None of the above (D) @ T
57.  IfEyf(x) = f(x + 1, then the true statement ~ 57. AR E,f(x) =f(x+1), @ 74 § ¥ w1
from the following will be : BT
(A) EhEEO (A) EhEEO
(B) E = th (B) E= th
(C) E =hE, (C) E = hE,
L 1
(D) E = (Epr (D) E = (Ey)n
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58. Lorentz transformation holds for : 58. NG WUEROT BRCH AT
(A) Non relativistic velocities only (A) Dgdl 3FUMED T & forg
(B) Relativistic velocities only (B) baa S fd & fow
(C) Moving charges only (C) Bacl A AT B oy
(D) All velocities : relativistic & non relativistic (D) i wifet & forg « amufeie 9 aFmfeS
59. Ifei and e; are the eccentricities of the ellipse ~ 59. oy g Y1 o sRwEd
A P £y s
s T L o T TgpSioata’ e B L, —--—..1aﬁaﬁmamw: er T e &
then the relation between e, and e will be ? Eﬁ e T e, F |aeT BN :
(A) 3e,” +e,% =2 (A) 3e.2+e2=2
(B) e;? +2e,° =3 (B) e, +2e,%> =3
(C) 2e,”+e,*=3 (C) 2,2+ €2 =3
(D) e:* +3e;" =2 (D) e,%+3e,2 =2
60. The sum of the series 5+11+19+29+41+ 60.  #of 5+11+19+29+41+ ® 20 T3] B
up to 20 terms will be : TN BT
(A) 3250 (A) 3250
(B) 3520 (B) 3520
(C) 3502 (C) 3502
(D) 3205 (D) 3205
6. Iff(x,y,2) = 0, then the value of‘;—’;-%-% 6L. I f(x,y,2) = 0, a’fa—"ﬂ-ﬂmm@n
will be : (A) 1
(A) 1 (B) -1
(B) -1 (C) 0
(C) 0 G"T{I’fﬁ :
(D) None of the above (D) ¥ Il Tl
62. An electron is moving in a straight line 62. &l Ud |9H m &3 H Uh Zoided &
perpendicular to the uniform magnetic field @ T AT BT & | SoNdRIA B U BN
enters the field. The path of the electron wiil )
be : (A) WaIITdR
(A) Parabolic (B) <IETHR
(B) Elliptical (C) FIR
(C) Circular .
(D) Straight line (D) ¥
63. Let f: R — R be a function given by 63. H® f : R — R & Had foal T @
f(x) = x? + 1, then the value of f~1(-5) f(x) = x2+ 1, 9 f~1(=5) & 99 Sl
will be : (A) =5
(A) -5 (B) 8
(B) 8 (C) 5
(©) 5 D) ¢
D) ¢
64. Radius of curvature of the curve 64. Tb r=a(l—cosO)D ﬁ%’ (r,8) W bl
r = a(1 — cos 8) at the point (r, 8) will be : o1 Brar grft
(A) 3Var (A) ;Var
(B) Lar (B) %ar
(©) ;Var (©) ;Var
(D) vZar (D) :v2ar ,
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65. In multiplicative probability when events A 65.  TUIHD uifidar # afe A duT B WA g2
and B are not independent, then : T g ar:
(A) P(AB)=P(A).P(B) (A) P(AB)=P(A).P(B)
(B) P(AB)=P(A).P(A/B) (B) P(AB)=P(A).P(A/B)
(C) P(AB)=P(A).P(B/A) (C) P(AB) = P(A) . P(B/A)
(D) None of the above (D) G'El'g?ﬁ i PR G
66. In a Class-A power amplifier, the collector 66. HM-T WG Yad H Fodex gR W TN
current flow at all times during : yafed et &
input signal Bt i ;
Eg; E};iiﬂlgut;z(;)lzs?::ig;ecymcﬁz 05; ?l?;t signal (A) @ Tﬁ D
(C) During the negative cycle of input B) faeh “_ P B SIS & D ARM
(D) Less than half cycle of input signal (D) fyaeh Hod & Ig—ab | HH 9 dD
67. The relationship between shift operator (E) 67. e TWeR (E) T 3@dhd JmeR (D) @
and differential operator (D) is : 4 &1 G99 &
1
(A) E=—logD (A) EzilogD
(B) E =log(1+ D) (B) E=1log(1+D)
(C) E=e™” (C) E=e?
(D) None of the above (D) G'Cl'g?ﬁ i P8 AR
68. If the coefficient of x% and x3 in expansion  68. I (3+ax)? d UOR ¥ x2 T x3 & T’Tl?ﬁ
of (3 + ax)? are same, then the value of ‘a’ GHH 8 ar ‘a’ &1 A7 BN
ill be :
b ; (A) 5/ 7
(A) /7 :
. B) °/7
B) °/; &
8 ©) °/;
©) °/4 5
9 (D) °/7
D) /7
69. A missile is fired from the ground level rises  69. 3T UF fAuEd 9HH ¥ W & NG grf
x metre vertically upwards in ¢ seconds, T B 98 x HIeR £ Yo H S W &1 R
where x = 100t —~—t2 . The maximum x = 100.‘:——t2 g d fEd gRT @@ @
height reached, will be ; LR IRCIEERL Ealé g -
(A) 200 metre (A) 200 #icX
(B) 125 metre (B) 125 #iex
(C) 160 metre (C) 160 ey
(D) 190 metre (D) 190 Hiex
70. If L and R be the inductance and resistance 70. IfE L 9 R #9: IRe@ 9 Wik & df R/L
respectively, then dimensions of R/L will be : @ famrd g -
(A) [M°L°T] (A) [M°L°T]
(B) [MD LD T_[] (B) [MO LD T—l]
©) MLOT] © MLTY
®) MLT? ©) MLTY
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l 71.  If coefficient of correlation is r = 0, then

71.  Ife WE-Wdy TG r=0 & o & G
two lines of regression are : T it
(A) Parallel (A) FHRR
(B) Perpendicular (B) ofHdq
(C) Tangent {53 LRG|
(D) Slant (D) foRel
72.  VectorV = (1,6¢,5) is a linear combination  72. o« @ f&® #M @ fow 9f¢w v = (1, ,5) .l
of V; = (1,-3,2) and V, = (2,—-1,1), then ufewt v, =(1,-3,2) 9 ¥, =(2,-1,1) &
what is the value of o< ? Y& WA B w9 ¥ 9 a¥d & ?
(A) 0 (A) 0
(B) =2 (B) -2
(C) 4 (©) 4
D) =8 (D) -8
73. IfCisthe curve x2+y?=1,z=7vy% then 73. I C U T x2+y?=1,z=y% & q
by stoke’s theorem gﬁc(yzdx + zxdy + xydz) W T & gRI §C(yzdx + zxdy + xydz)
will equal to : BT {9 B :
(A) 0 (A) 0
(B) 3 (B) 3
©) 5 © 5 |
(D) None of the above (D) U‘*T{i'f'ﬁ H ¥ By TE
74.  Liquid helium is super fluid at : 74, Rl AfoRH YW E@ E
(A) Above2.19K (A) 2.19K¥ R
(B) Below 2.19K (B) 219K @ 98
(C) Below4.2K (©) 42 K 99
(D) Above 42K
(D) 42K¥ R
75.  The value offf/elloge x|dx will be : 75. ff/ellogexldx BT HH BT
2 2
(A) 22 iy 2
2 2
(B) o 2 (B) i 2
1 1
(€ -2 @ 2=y
2 2
D) 2-1 @) 2-1
76.  The principal value of log(—3) is : 76.  log(—3) @1 & dH -
(A) log3 + mi (A) log3+ mi
(B) log3 — mi (B) log3 — mi
(C) log3 + 2mi (C) log3+ 2mi
(D) log3 — 2mi (D) log3 — 2mi
77.  The number of generators of the cyclic group 77.  ®fe-8 & TH aDIT e G & W B
G of order 8 will be : (A) 2
(A) 2
(B) 4 (B) 4
©) 6 ©6 |
(D) None of the above (D) G'q'{i?ﬁ LR ﬁ? el
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78.  Refractive index of air with respect to glass 78. B B W g ol RVCREIG) 2/3 & ayg >
is 2/3 and the refractive index of diamond
aq—c]ﬁ:{@' 12
with respect to air is 12/, Then the refractive e ER T /s & T ER B W
index of glass with respect to diamond will ®ra BT JYTIHD BN
be:
(A) /g (A) /g
B) 8/ B) %,
©) /1 (©) /18
(D) 18/ (D) 18/
79 x/I+y+yVi+x=0for—1<x<1, 79 W x[T+y+y/I+x=0TM-1<x<1
d d
then the value of = is : ﬁlﬂﬂﬁm :
dx dx
1 1
(A T (A) Gy
B) (1+ x)2 (B) (1+x)?
1
(C€) = (1+x)2 © G
2 2
®) G D) G
80. Let A and B be two events such that 80. ufT A 3R B U & gl € & P(A)=0.60,
P(A)=0.60, P(B_)=_0.20 and P(A/B)=0.5, then P(B)=0.20 3R P(A/B)=0.5, T4 P( A/B) @&
the value of P( A/B) will be : A BN
A A L
10
3
(B) 10 (B) 13_0
3
© 5 @ 3
6
®) 3 ®) 3
8. The value off log(Hx ) dx will be : B fow log(”: ) dx &1 M BT
1+x
(A) mlog2 (A) mlog 2
(B) —7/,log2 (B) —7/,log2
(C) 7log2 (C) g—logZ
(D) None of the above (D) G'mj?ﬁ #H PIE Tel
82.  The amplitude of damped harmonic oscillator ~ 82.  TT9 3[GHfSd 3IAd Bl AM AT YRS A1
is reduced to 1/e times of its initial value in &I 1/e AT B WraT 8, o $9 Pel oI ©
the time, the.n it 'is called : (A) aid dAea
(A) Mean llfe t@e (B) 3R B 69
(B) Relaxation time
. _ (C) |HY |
(C) time period _
(D) One second (D) U IS
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83.  Karl Pearson’s coefficient of correlation lies ~ 83.  @of fU%d &I We—de UNd, HeF Y&l & :
between : (A) 03R1%
(A) Oand ;
(B) —1and I A=) —13TI_‘<:1E%\
(C) — oo and (C) 'J’_r?rﬂ\\.r\'_:ﬁ ..
(D) None of the above (D) S9H H | Plg el
84.  The equation of plane through (1, 2, —1) and 84. Udh ad (o) Wi f& (1,2, -1) 9§ IRl g
. . — 7 will he- dd (@) 3x—y+4z=7 & GAMR &,
parallel to the plane 3x — y + 4z = 7 will be: .
IS FHIER B -
(A) 3x—y+4z=5 (A) 3x—y+4z=5
(B) 6x—2y+8z=0 (B) 6x—2y+8z =0
(€) 3x—y+4z+3=0 (C) 3x—y+4z+3=0
(D) 3x—-y+4z=3 D) 3x—y+4z=3
' -2 -7 : : -2 =7 \ Ny

85.  If the numbers — /X, are in geometrical 85. gfe U =% O Ao H % al x @
progression, then the value of x will be : W BT
(A) £2 (A) X2
(B) +1 (B) +1
© 1/, © +1/,

D) +1/, @) +1/,

86. Two waves having intensities in the ratio 9:1, 86. MG TR drell &1 ORI I el & KREIN]
produces interference. The ratio of the 9 - | & aifdran gor YA draar &1 T
maximum to minimum intensity 1s : SUIE
(A) 10:8 &) 10°8
B) 9:1 B) 9: 1
= ©) 4:1
(D) 2:1 (D) 2:1

87. The system of n homogenous linear 87. n N W dqTdl n GHEY Wb FHHwT &
equations AX = 0 in n unknown variable has PR AX = 0 IS T 2hT afe
a non-trivial solution if : A A o
(A) p(A)<n (A) p(A)<n
(B) p(A)>n (B Py =w
(C) p(A)=n (C) P(:A:) = J.'? |
(D) None of the above (D) §9Y 9 P T

88. The true statement of a function 88. el f(x)=x34+3x,x#0 o fo@ W@
fE)=x>+3x,x %035 HIT B
(A) Polynomial function, so always contmuous (A) el dguq & 3 §dA Had 2
(B) Continuous at pointx = 0 (B) W &ad ﬁﬁ x = 0 R Haq g
(C) Discontinuous at pointx = 0 (C) e ﬁ;,;i x = 0 W 399 &

(D) Not sufficient information about e e @ TR E‘N?]JW
continuity of function B) D @ forg S §
87/107 A-13
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89. The equation of motion of a particle is 89. U P PT 9 FHIGRY s=2t> + sin 2t © KA
s=2t%+ sin 2t, where s is in metre and t is in s Bex oo t Yave A 2 A 9 &1 9T @
second, then what will be velocity of the g ik
particle, when its acceleration is 2m/sec® ? BN, e @O 2m/sec’ &

(A) m+ V3 m/sec (A) m++V3 misec

(B) %+\/§ m/sec (B) §+\/§ m/sec

(©) Z?n-% V3 m/sec (©) 3375+\f§ m/sec
m 1 L i

(D) ;+E n/sec (D) Z +J§ m/sec

90. The Schrodinger equation can be expressed ~ 90.  HfSTR TG ad B! O Haball © :
8| (A) H(¥)=0
(A) HW)=0 (B) E®)=0
(B) E(#)=0 (€) H¥)-E®@)=0
Q) H(P)-E{F) =0 (D) H(W)+EW)=0
(D) H(W)+E(W¥)=0

91. Chan%mgdf_)t]hc‘ order of integration in 91. = J-O3 J-lwt yf(x,y)dy dx ¥ TFAT S A
1= [ [} " fly)dydx leads to N qE W = J-rs quf(x,y)dx dy W
I= f: qu f(x,y)dx dy , then the value of g BT 2, @ g P A BT
will be : (A) 1
(A) 1 (B) 3
(#) 3 ©) 0
©) 0 .2
(D) 4—x2 ) d=x

92. Ifnis an odd integer and i = v—1, then 92. Ul n U foww @& & 9w i=+v—1, @
(1 4+ + (1 — i)™ will be equal to : (1+ D"+ (1—i)5" & AE 81 :

(A) 0 (A) 0

(B) 2 (B) 2

€ -2 () -2

(D) None of the above (D) gq-gﬁ ¥ 9 Pg Al

93.  The intrinsic equation of a common catenary is : 93. MY dicaNl @ Siorad THIGN - £

(A) y=ccosh (E) (A) y=ccosh (g)
. X

(B) s=csinh (E) (B) s=csinh (E)

(€) s=ctan¥ (C) s=ctan¥

(D) y*=c*+s? (D) y? = c?+ s?

94.  Pure semiconductor material at a temperature 94. Y& Fgarad et 0K arowH R fmfofad H

of OK is : Y fHua! TvE @aER a7 & ?
(A) Conductor (A) TEE
(B) A resistor (B) B9
(C) A power source e
(D) An insulator (€) TR
(D) %diddd
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2—3 cos x—sinx

. . . 2—y3 —si .
95.  The value Ofll_,mE ooy Will be: 95. i%% ST HH BN
6 6
1 1
(A) (A)
1 1
(B) < B) -
© ©) 3
(D) None of the above (D) Gq'{l?ﬁ # q Plg Ta
96. If u=-sin"1 [ﬂ] , then the wvalue of 96. I u = sin™? [ﬂ], Gll xa—u+ ya_u Dl HIH
x+y x+y ox dy
du du . . .
x§+ya—y-w111be. I -
(A) cotu (A) cotu
(B) tanu (B) tanu
(C) sinu (C) sinu ‘ _
(D) None of the above (D) qu?ﬁ 43 Blg T
97. . (1O : 97. ‘ = :
Valucof(z)wﬂlbm (z)ﬁqﬁm
(&) —2v G =i
(B) Vm ®) ;Vr
3
« -8
© =vm ©) vm
(D) None of the above (D) § §E!5 § W PrE T
98. The moment of inertia of a ring (mass M and 98. M T@HM T4 R B arol foel Bedl () @
radius R) about an axis passing through JTH BE W O qTell qT dd B ofrqq & B
centre and perpendicular to the plane is : uRka: e CHTELUJ[ TR
(A) ;MR? (A) :MR?
(B) :MR’ (B) MR’
(C) MR? (C) MR2
(D) 2 MR? (D) 2 MR?
99. tan20"+tan40’++V3tan20"tan40" is  99. tan20" +tan40" + V3 tan 20" tan 40°
equal to : -
@ Y3/, *) V¥,
®) Y3/, ®) Y3/,
(©) V3 (€) V33
(D) 1 D) 1
. M
0. (-}E)m = 1, then minimum integer value 100. yfy (E) =1, @ m B FAH T’ﬁﬁ HI
of m will be : BT
A) 2
B) 4 (A) 2
©) 6 (B) 4
(D) 8 (©) @
(D) 8
kkdkkk
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TVHAS

F Ify R vd sl aoi F Fre WoR @ areTaar A & ar sl o & A= @

If there is any mis-match in Hindi & English version, then english version will be acceptable.

F” dad MoTHOIR SR-1FF W FREd SoR W & fare 3 | A0TH0SIRD SER-TEd T Fe-GRAST W PE
spaifod forg 7 9ROk 7 & P W A v AW ford | 7€ A =W @ 97 fF U AR i R wn e @
fore W Toge A 1 e W fier a1 o Yy § R a1 UM @ W e Pia: afia 21 §9 YeR @
P T R RS 3 &l T |
Make the mark only in the space provided on the OMR Answer-sheet. Please neither make any stray mark nor
write your name on any part of the Question booklet and OMR Answer-sheet. Candidates are also

insturected that it is prohibited for trying to hide any circle by using fluid, eraser or scratch in any method.
Negative marks will be provided on these activities.

" g 10 (Rough work) We GRaer d & fpar s |
Rough work is to be done in the Question booklet only.

F e ye @ IR 8g I 9T Rl B SER U6 & g @1 B TER W 6 W e W T gl 9 9o
T T BIE o 1 U9 @7 Ulage Afe P Teld I /T QT |

Darken only one circle corresponding to alternative answer that you choose for each question, as darkening of
more than one circle shall be treated as wrong answer.

IRV : HF ofore et fawa &1 we EEm 41 39 YN # ¢
Example: Suppose Q.No. 41 of the subject is as below:

Q.No. 41:  What type of mixture is smoke ? g3t e gaR @1 Ao g ?
(A)  Solid mixed with a gas (A) ¥ B3 o
(B) Gas mixed with a gas (B) = fafda 9
(C) Liquid mixed with a gas (C) u faf¥a 7
(D)  Gas mixed with a liquid and a solid (D) %4 vd o fafda i

R e IFTAR §9 97 $ G&) 9/ fabed (D) &, @ SER-17% # T P ¥ W fvg—awg dlem ved e
41D G & I B g9 TER W |

If you think the correct alternative answer is (D), then fill in the relevant column of the same section of the OMR
Answer-sheet as follows:

we fafy Tera faftr
Correct method Wrong method

OO

(afe e fafy & 4 et o el o BIE foe o T @ O WE SR & Wiy fae @ Y @ SR o Sar A
U AU Wl ofb FOTHS 21T ¢ )

(If more than one circle is darken or any impression by the candidate either properly or improperly then % mark will be
deducted for every question.)

T wwffal B R Wy 9 wore & o & b AR 9K 5w we-gfawt ¥ B B9 uar Us wen Ry e
e el o $9e! e R b FkEs 31 3, R e ye 390 i o1 9 e e 3 qun o 96 |
The candidates are strongly advised that in case they come across any discontinuity in the serial number of the

questions/pages in their Question-booklet, they should immediately inform the Invigilator so that missing pages, if
any, may be supplied to them.

Tl ¥ gt 1 e dagee T 9 ST WA SR Aerge B, Yo S @ W o QUi arid 2|

Use of electronics/manual calculator and any electronic equipment like mobile phone etc. is not allowed.

1. 39 & § HIED A BT WEH 2| TS T IR B oY % IF PIeT TR |
There is NEGATIVE MARKING in this examination. For every wrong answer % mark will be deducted.

2. TS YH B A A A Y IRG TR P R A FOH 3G 3T WawE ¥ g9 N Tow Iaw B 7R %3S Prer aw
On giving of two or more than two answer for every question, % mark will be deducted.

3. ¥ WE-GRaPl AU AgPHis 3R FeE B (Rough Work) & AfiRed g8 7 ford|
Do not write anything except the Roll Number and rough work in this Question booklet.

4. TET FHIRT & TPERT OMR ¥ B W B5d & WH § A R dR-eR 513 wdamrefl ofy &) wdemft oo
o SRR R e i 7wty 9w e @ Sueer s |
Fold along perforation, given on the top of OMR Sheet and tear it slowly after examination is over. Candidate will
carry candidate’s copy and handed over the original and office copy of OMR Answer Sheet to the Invigilator.



